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Depending on how you choose to travel, some modes of green transport can be greener than 
others. 

Circle the eco-friendler transport mode from the pairs below. 



Spot the Innovation!  
Our land transport system is driven by initiatives that seek to lower our carbon footprint and
improve energy efficiency for a greener environment. 

Challenge yourself to see if you can spot these 5 initiatives in the image below!

1. High Recyclability Train
2. Solar Panels at Bus Depot
3. Cycling Path
4. Electric Bus
5. EV Charging Point 
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Test Yourself!  

Great job on completing the tasks! Now test yourself to see how much you have learnt from 
the exhibition!

2.     What is an example of active mobility? 
a) Taking private hire vehicles such as taxis
b) Riding an e-scooter
c) Walking
d) Driving a car 

3.     By 2030, _________ of our bus fleet will be electric. 
a) 20%
b) 30%
c) 50%
d) 75%

4.   Which of the following is the largest contributor of carbon emissions for 
land transport?
a) Private vehicles
b) MRT
c) Public buses
d) LRT

5.   As we expand our rail network to 360km by 2030, _____ in 10 households 
will be within a 10-min walk of a train station.
a) 3
b) 5
c) 7
d) 8

1.     What is an NOT an impact of climate change? 
a) Cooler temperatures
b) Flooding
c) Spread of COVID-19 virus
d) Imbalanced ecosystems
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Which Vehicle is Greener?
1. Electric Car
2. Electric Bus
3. Electric Car
4. Electric Bus
5. Walking/Cycling

Test Yourself!
1.     What is an NOT an impact of climate change? 
a) Cooler temperatures
b) Flooding
c) Spread of COVID-19 virus
d) Imbalanced ecosystems

2.     What is an example of active mobility? 
a) Taking private hire vehicles such as taxis
b) Riding an e-scooter
c) Walking
d) Driving a car 

3.     By 2030, _________ of our bus fleet will be electric. 
a) 20%
b) 30%
c) 50%
d) 75%

4.   Which of the following is the largest contributor of carbon emissions for 
land transport?
a) Private vehicles
b) MRT
c) Public buses
d) LRT

5.   As we expand our rail network to 360km by 2030, _____ in 10 households 
will be within a 10-min walk of a train station.
a) 3
b) 5
c) 7
d) 8

Answers
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